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DA =4p> = =2pn, LA n=2p, BF DAL MN 7 FER x = my +2p, BTLAELZR MN i35 &5 P(2p,0) ¥ 2p =8, B

(719,)°
64

=64, JfF LA &, +2x, =2 ,/2x,%, =2 /2 x64 =162,

MEALY x, =22, =82 HL%S.

— BUUERE AL 4 /NVE, B/NE S 47,320 7. B/NELERERIRG 5 &, AR IERI NG 2 &, BIERRR 0 &

9. %% BD
RARRE A% A e
7
BRI S x=0,Ma,=n-1=5n=60A&R;Sx=1,a, +a, +- -i»-a()=32-I~33+---+3f’:3 —9,
Wisa, =2 - (C2+C+Cl+C+C) =4 xC} =4 x35 =140, #k C §4iR ya, = Ci2° =64,k D EHf.
10. 22 ABC

11.

RAEE AEEELENERER LA R LS.
#R#r  [Hk AB//CD,CDC T PCD,AB ¢ i PCD, it Lk AB// SETii PCD i A IE%; -1 ABCD L SE-Tij APB,
H BC LAB,fKL) BC L PA, X PALPB,BCO\PB =B, \1ii AP L1 PBC, LA AP L BG, ¥ B IEH; 5 M AP L

PC, T LAPUBSHE P -~ ABCD B9AMEIREYE 1209 AC, FF LA AC =4, FF L AB =22, iTLL AP =2 ,[Hh AP L 16

A

PBC, i) £ ACP >} AC 5518 PBC Fi i, T LA sin £ ACP = T,-.!ﬁz C IEWa; [ AW ABCD L i APB, iF

P & PH L AB AR 1 1136 A9 M E 38, /T80 PH L F-T6i ABCD, (X0 PH - AB = PA - PB,Jit L PH :é—g,mu

2 4.6 s
Voo =:15_ «AB” - PH =?3—F,]!ﬂ( D 45,

&= ACD

AR RN A RS R

BRAT  ARIE UL (X R, AAB P F | = | PyF, | LA PR L — 1P F | = | PF | = IPF, | =2 x2 =4, A
T AR R, VUHIE F,F,PyP, JIERIE | F Fy) =8 3% P F, | = | PR, | =t IR EHA1S1F P, 1 =
|F Fy12 + | F, Py 12 =21F Fy | « | F,P,lcos 60°,B1 (¢ +4)* =64 + ¢ 8¢,/ 45 t =3, BT LA F, Py 1% + | F,P, 1% #

|F,F, 17 i B 5% 860 F, F,P,P, ﬁfjﬁ,j&;3x*/2—§—3/_ |P,P,] =8 -2 x3 x%:S FrLLIUhIE F,F,P,P, Y

N



12;

I3.

14.

WA (5 +8) x 22 =3B 4 ¢ M, 50), B 5 P(-2, f) guLp, (228,

2 2
y0+§_~/i_ yﬂ_ﬂ e 12(9‘_0_1)_2 3(::3 2_5)
P-i-ﬂﬂmk Ch o 2 2 _ 4 "\ 4 4 4] _3 wp
3 2 ] 2 L] MPy MPy . +i N —i . —2_5 ) —2_5 x2_2_5 ,
°" 2 A % 0 °© 4
1EH.
ER AC

R B AR A R R R S B R R R

R DA f(x +2) ARRREL BTRL f(x +2) =f( -2 +2) B f(4 - %) =f(x) , X f(x) =g(4 -2x) —g(2x) , 7]
BA2-2) +f(x) =g(4-2(2-%)) -g(2(2-x)) +g(4 -2x) -g(2x) =0,8 f(x) FEZKT K (1,0)XF%,
BCA TER (%) = —f(2-%) = = f(w+2) = - [ -fx+4) ] =f(x+4) ;8 f(x) FELL 4 D9 E 9 R R 4, AR
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